January 2011 RTD SAQs
Question 1

A 21 year old male Rugby player attends the ED after sustaining an injury to the left shoulder. A radiograph of the shoulder is shown in Image 1.

A. Describe two abnormalities shown in this radiograph.


(2 marks)

…………………………………………………………………………………………..

…………………………………………………………………………………………..

B. You decide that you will manage this injury in the department. List 3 parenteral agents that may be used in combination to provide analgesia and sedation in the ED in this circumstance.








(3 marks) 
	
	Analgesic
	Sedative

	1
	
	

	2
	
	

	3
	
	


C. Describe 6 preparatory steps that are essential prior to the administration of Procedural Sedation in the ED. 







(3 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

D. List 4 criteria that should be fulfilled prior to discharge from the ED if the patient has been given a sedative agent.






(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

Question 2
A 23 year old woman has been brought from your local airport by Her Majesty’s Transport Police. They suspect that she has ingested a large volume of cocaine wrapped in condoms with the intention of smuggling the drug into the country.

A. Name 4 clinical features that would make you suspect that one of the packages is leaking.








(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

B. Name 4 medications that might potentiate the serotonin syndrome associated with cocaine intoxication







(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

C. Name 2 drugs used to treat cocaine-induced hypertension.

(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

D. Name 2 drugs contraindicated in the management of complications of cocaine ingestion.








(2 marks)
………………………………………………………………………………………………

………………………………………………………………………………………………

E. The patient develops a broad-complex tachycardia. What is your first-line drug of choice?








(2 marks)

………………………………………………………………………………………………
Question 3
A 35 year old electrician has been electrocuted by a mains supply that he was repairing. His airway, breathing and circulation assessment are all entirely normal.

A. Name 4 ED interventions that would suggest that the patient had sustained a significant injury.







(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………… 

B. Clinically what is the difference between an AC and a DC shock?
(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

C. What is the difference in the fluid resuscitation regime for a patient with an electrical injury compared to a thermal burn?





(2 marks)
………………………………………………………………………………………………

………………………………………………………………………………………………

D. List 4 neurological effects of electrocution.



(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

E. Name 2 criteria necessary for safe discharge from the ED following an electrocution injury.









(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

Question 4
A 48 year old man attends the ED after sustaining a head injury following a fall outside a public house. You note that he smells of alcohol. He is confused, but otherwise alert and cooperative.

A. List 4 reasons why patients with a history of chronic alcohol use are at higher risk of intracranial haematoma following head injury.



(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

B. Name 2 screening tools that may be used in the ED to identify patients with alcohol problems.








(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

C. Define Hazardous drinking, harmful drinking, binge drinking and alcohol dependence










(4 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

D. Following a period of observation the patient’s GCS is 15/15. He is tachycardic. 
ABG reveals metabolic acidosis, urinalysis +ve for ketones. You suspect alcoholic ketoacidosis. Which 2 treatments should be commenced prior to transfer to the MAU?











(2 marks)

………………………………………………………………………………………………

……………………………………………………………………………………………… 

Question 5
A 6 year old girl attends the ED. She had her ears pierced 8 weeks ago and now her parents are unable to remove her earrings.

A. Outline a regional anaesthetic block that would be suitable for this procedure. Please discuss all relevant anatomy.






(2 marks)

………………………………………………………………………………………………………
………………………………………………………………………………………………………
………………………………………………………………………………………………………
………………………………………………………………………………………………………
B. Calculate the maximum number of milliliters of 1% Lignocaine (without adrenaline) required for a 6 year old child of average build.



(3 marks)

………………………………………………………………………………………………………
………………………………………………………………………………………………………
………………………………………………………………………………………………………
………………………………………………………………………………………………………
C. Name 4 features of local anaesthetic toxicity.



(2 marks)

…………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………
D. Name 6 treatment steps used in the management of local anaesthetic toxicity. 










(3 marks)

…………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………
…………………………………………………………………………………………………………………
………………………………………………………………………………………………………

Question 6
A 40 year old man injured his right ankle whilst playing squash. He is unable to weight bear due to the pain.
A. Describe Simmond’s (Thompson’s) Test.




(3 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

B. If the test is asymmetrical, which other investigations should be ordered? (1 mark)

……………………………………………

………………………………………

C. Which other clinical findings may be present that could help confirm the diagnosis suggested by an abnormal Simmond’s test?




(2 marks)

………………………………………………………………………………………………

……………………………………………………………………………………………....

D. Why might the active range of movement be preserved?


(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

E. Outline the conservative management of this condition.


(2 marks)

…………………………………………………………………………………………….

…………………………………………………………………………………………….

…………………………………………………………………………………………….

…………………………………………………………………………………………….
Question 7
A 33 year old lady presents 6 days post-partum with rigors. She has no significant past medical history. The baby is well.

A. List 6 questions you would ask her to help identify the source of infection. (3 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

B. Give 4 potentially life-threatening causes of pyrexia post C-section.
(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

C. Which two mechanisms give rise to the increased risk of DVT in pregnant women? 










(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

D. List 2 antibiotics that should be avoided in breast-feeding women.
(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

E. What advice would you give to a woman with mastitis regarding continuing breast-feeding?








(1 mark)

…………………………………………………………………………………………………………………

…………………………………………………………………………………………………………………

Question 8
A. A 72 year old man presents with a 6-hr history of chest and back pain. The BP in his right arm is 80/40 and 135/90 in his left arm. You are concerned that he has an aortic dissection.

A. Name 4 possible abnormalities that you could possibly see on a chest radiograph in a patient with aortic dissection.






(2 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

……………………………………………………………………………………………....

B. Name 2 conditions which make a patient a greater risk of developing an aortic dissection.








(1 mark)

………………………………………………..
………………………………………

C. What other disease process could explain the blood pressure difference between the two arms?








(1 mark)

………………………………………………………………………………………………

D. What are the fundamental differences between a Stanford A and a Stanford B aortic dissection?








(2 marks)
………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

E. Name the abnormalities visible on the abdominal CT (see next page).
(3 marks)

………………………………………………………………………………………………

………………………………………………………………………………………………

………………………………………………………………………………………………

F. Which is the most likely murmur to be heard on auscultation of the heart in this group of patients?








(1 mark)

……………………………………………………………………………………………...
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